SOLUTIONS &F}PS PROBLEMS INVOLVING EQUATIONS
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In AABC, the measure of ZABC is double the measure of ZCAB . The measure of ZBCA is 30° greater
than the measure of the smaller of the other two angles.
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2. Naquan is saving nickels and dimes in a jar. The jar contains 10 more nickels than dimes. Altogether, the
value of the coins is $16.25. How many nickels and dimes are in the jar?
Coin Valugoc;LOne Number of Coins Value of Coins
Dime $0.10 d o.100
Nickel $0.05 A +10 0.05(d+10)
Total N/A A+ o{_g. 10 $16.25
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Nickel = 5° = $0.05
©s 104 + O. ogﬁ_l/ﬁ =16.25
040+ 0.05d + 0.5 =635 Dime = 10° = $0.10
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3. Solution A is 50% hydrochloric acid by volume, while solution B is 75% hydrochloric acid by volume.

How many litres of each solution should be used to make 100 ltres of a solution which is 60% hydrochloric
acid by volume? " " 1Hres of 1-s.alu'hom A
' 100 hitves alTogeYher
Solution (of Problem) / J00-0 I+ VESSO’F SOIu'}\OnB
Solution % of acid Volume of the Solutiopf (L) Volume of Acid in the Solution (L)
Solution A 50% = 0.5 a 0.54
Solution B 75% = 0.75 (40 - ot 0,75 (100 -¢)
Mixture 60% = 0.6 100 0.6 (100) = 60
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